

Name of Cardholder: Angela Piercy

Name of Department: <u>Ministry of Financial Services and Commerce</u>

					Exchange	KYD\$
Date	Description of Transaction	Supplier	Currency	Amount	Rate	Equivalent
5-Mar-25	Subscription	TIMES NEWSPAPERS LTD LONDON E98 1X	USD	12.85	0.8375	10.76
10-Mar-25	Subscription	D J*WALL-ST-JOURNAL	USD	19.99	0.8375	16.74
31-Mar-25	Marketing Software	HUBSPOT INC.	USD	70.00	0.8375	58.63
31-Mar-25	Subscription	THE NEW YORK TIMES 180-06984637 NY	USD	15.00	0.8375	12.56
TOTAL					98.69	



Name of Cardholder: <u>Andrea Proctor</u>

Name of Department: <u>Ministry of Financial Services and Commerce</u>

Date	Description of Transaction	Supplier	Currency	Amount	Exchange Rate	KYD\$ Equivalent
1-31 Mar 2025	No Transactions incurred during this Period		USD	0.00	0.8375	0.00
	TOTAL					



Name of Cardholder: <u>Cindy Jefferson-Bulgin</u>

Name of Department: <u>Ministry of Financial Services and Commerce</u>

					Exchange	KYD\$
Date	Description of Transaction	Supplier	Currency	Amount	Rate	Equivalent
11-Mar-25	Annual subscription for KYC Search engine	RISKSCREEN JERSEY	USD	2,334.51	0.8375	1,947.30
TOTAL						1,947.30



Name of Cardholder: Dax Basdeo

Name of Department: Ministry of Financial Services and Commerce

Date	Description of Transaction	Supplier	Currency	Amount	Exchange Rate	KYD\$ Equivalent
17-Mar-25	One Year Subscription for HR Surveys	SURVEYMONK* T 45417916 BALLSBRIDGE	USD	372.00	0.8375	311.55
TOTAL						311.55



Name of Cardholder: <u>Duncan Nicol</u>

Name of Departmet: Ministry of Financial Services and Commerce

Date	Description of Transaction	Supplier	Currency	Amount	Exchange Rate	KYD\$ Equivalent
	•	Зиррпет	Currency	Amount	Nate	Lquivalent
	Hotel Accommodation for Official Travel					
	to attend scheduled Global Forum PRG,					
17-Mar-25	on 01MAR25-17MAR25 in Paris	HOTEL MAISON FL PARIS 16	USD	3,775.26	0.8375	3,161.78
	Hotel Accommodation for overnight in					
	London on Official Travel to attend					
	scheduled Global Forum PRG, on					
19-Mar-25	01MAR25-17MAR25 in Paris	SOFITEL LONDON HEATHROW FHOUNSLOW	USD	445.66	0.8375	373.24
		TOTAL				3,535.02



Name of Cardholder: Gene Dacosta

Name of Departmet: <u>Ministry of Financial Services and Commerce</u>

					Exchange	KYD\$
Date	Description of Transaction	Supplier	Currency	Amount	Rate	Equivalent
11-Mar-25	MONTHLY TELEPHONE DATA	G-FORCE NETWORK-RAFFLES SINGAPORE	USD	26.64	0.8375	22.31
14-Mar-25	MONTHLY TELEPHONE DATA	SINGTEL PREPAID HI!ACC SINGAPORE	USD	26.60	0.8375	22.28
17-Mar-25	COFFEE WITH AUDIT PARTNER	STARBUCKS@ASIA SQ(AST) SINGAPORE	USD	12.90	0.8375	10.80
21-Mar-25	AIRFARE FOR OT TO BANGKOK 28APR25-01MAY25	SINGAPOREAI 2462426934 SINGAPORE	USD	444.25	0.8375	372.06
28-Mar-25	ATTENDANCE AT SINGAPORE YACHTING FORUM	SYF BY ONE15 SINGAPORE	USD	45.37	0.8375	38.00
	AIRFARE FOR OT TO HONG KONG AND TOKYO 12MAY25-					
31-Mar-25	24MAY25	CATHAYPACAIR1607284207732877-6092233 CA	USD	4,136.80	0.8375	3,464.57
		TOTAL				3,930.02



Name of Cardholder: <u>Julie Campbell</u>

Name of Department: <u>Ministry of Financial Services and Commerce</u>

					Exchange	KYD\$
Date	Description of Transaction	Supplier	Currency	Amount	Rate	Equivalent
5-Mar-25	Chutney Mary - OT meeting	CLR*AMAYA LONDON	USD	483.73	0.8375	405.12
	FS banner for Operations and					
10-Mar-02	Stakeholder Engagement	Printed.com Northumberla	USD	144.13	0.8375	120.71
	FS banner for Operations and					
17-Mar-25	Stakeholder Engagement	Printed.com Northumberla	USD	147.29	0.8375	123.36
5-Mar-25			USD		0.8375	0.00
TOTAL						649.19



Name of Cardholder: <u>Josette Lawrence</u>

Name of Department: <u>Ministry of Financial Services and Commerce</u>

Date	Description of Transaction	Supplier	Currency	Amount	Exchange Rate	KYD\$ Equivalent
1-31 Mar 2025	No Transactions incurred during this Period		USD	0.00	0.8375	0.00
	TOTAL					



Name of Cardholder: <u>Kathryn Dinspel-Powell</u>

Name of Department: <u>Ministry of Financial Services and Commerce</u>

					Exchange	KYD\$
Date	Description of Transaction	Supplier	Currency	Amount	Rate	Equivalent
12-Mar-25	Tango Software - 1 month subscription	WWW.TANGO.US TANGO.US CA	USD	24.00	0.8375	20.10
28-Mar-25	Subscription	www.wipo.int Geneve	USD	320.00	0.8375	268.00
	TOTAL					288.10